=
u

ONLO/OLo
=
>

=
w

1.2

1.1

1.0

0.9

8 TeV

8 TeV

1.15 T
¢ O=syp<l 0=sy*<1 c
v 05§z<1 15){*(2 o ¢ O=syr<l 0=sy*<l1
A O0=syp<l2=sy*<3 1 S v 0=yp<lls=y"<2
B 1:}/b<2 0:y*<1 ‘q,:) 4 0=y<l2=y"<3
N 1:}’b<2 1:y*<2 S1.10l B l=sy,<2 0=sy*<1 |
o 2=yp<3 0=y'<1 vV > lswyp<21syi<2
=Yb =Yy 1 % o 2=yp<3 0=sy'<l1
()
> 2
< ° 1.05 | Dittmaier, Huss, Speckner |
o [JHEP 1211 (2012) 095]
()
—0—0-_0_.0. 4 @
00, (0]
e 2
o, EI.OO- 1
- ] &
; 0.95 L
200 300 500 1000 200 300 500 1000
PT,avg [GeV] PT.avg [GeV]
1.12 8 TeVv
L T
o ¢ O=syp<1l 0=sy*<1
o Smlu\gtg v O=syp<l l=sy*<2
V110t A Osyp<l2=y*<3
5 £ B lsy,<2 0sy*<1
o | > lsyp<2 1sy*<2
%1_08» Ef o 2=yp<3 0=sy'<1 -
1.06 |
1.04
1.02
1.00

200 300 500 1000

pT,avg [GeV]



